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| IL’IV B. Tech DEGREE EXAMINATION
Second Semester
- Computer ’Sc‘_1ence. and’ Eng'lx;geri.ng ‘.'
* ‘OPERATIONS RESDARCH‘ o
(Effectlve from the admitted batch of 2010—2011)
Tlme Three hours ERE - Max1mum 70 marks -
Questlon No. 1is cémpulsory
. Answer any ‘FOUR from the rema‘inir;g. !
All questions 'céir-ry 'equzillr.n'afks-. .
’ Answer allliaarfs of any questio_x:l a-t on.t_‘er pl,llaé_e.'-
1. Write short ‘notes on the followmg
e (a) Art:lflclal varzables
' : ) Twu phase method
(c) Slack Var1ables T

(@) _Dege'ner_acy

et e
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Cr1t10a1 path

"Descnbe the apphcatmns
-in brlef : e

North West corner rule -

Mixed 's—tfateg.,y:ﬂ”

'Solve “the folllom‘-rihg-_r 'ALPP _l:ﬁs,ing] Slmplex :
-~ method, Drap s e e

.;_.Mlmmlze z= xi sz +2x3

o -‘.Subject to e

- Bxr- +2xa 57»_'
—2x1+4x2512_'

= .—4x1+3x2+8x3S10 1 5

xl,xz, ;’c3 > O. :

Usmg dual Slmplex method solve foHowmg

=LPR

Mlmmlze o 2x1 ¥ sz +49cFj :

' SubJect to

p 2951 ‘+—3x2 + 52, 22

-84 +x2+7x3 53

C x1+4x2+6x355

xl,xz, x3 2 0.

R Techniques. |
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* | (b) Solve by usmg B1g M method
Mmlmlze z =5y +6x2 3,
Subject to -
2x1 +55, 51500 ¢
3%y + X9 2 lhOO
‘ xl,xz 2_07‘ ‘
" 1o _.(ﬁ)” 'C'o'n-side.r thefolld‘;'ving'trénsp'ort-ati_onprob’-lem
| with ggll_entries‘.den;iti'nlg unit _cdsts. '
To  Availability -
From = 2 7. 4. 5-
378 1 .8
5 o4l T 7
ReQuiré,ment 7 . 9 18 BUR. 7% ro
_ Fmd an 0pt1mal solutlon by flndmg the initial
' basm feaszble solutlon usmg the Vogel’
approx1mat1on method '
3 [o7-2221]
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(b) Solvesthe follo-wmg‘_assignment problem‘ﬁ'sing
the Hungarian.algorithm.

Jobs
| LI U VOV |
Machines A 45 30 65 40 55 fi
B50 30 25 60 80
C 252 15 20 40
D 35 25 30 30 20
E 80 60 60 70 50
(a) What is' the need for integef programming?

Give two examples in which we need integer

solution values.

(b) Use Branch and Bound algorithm solve the
following integer program (IPP), .

Maximize 2 =T7x; +9x,

Subject to - - ; L ow  wg ‘ E
-x +3x; 56 . ‘ - | &
Tx) +x, <86

xy,%, 20 and are integers.

4 ' [07 - 2221]
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6. (a) Explain For;ward and babkward recursion’

dynamic p-rogx.ammillg.

(b) Consider the ‘game having following pay off

~ table. Deternnne the optimal strategy for each.‘

: player

Player. .

o o _‘ 3 -
1 %2 =8

_Player 2 -1 1 -2
B e | _2‘\_‘.—1‘

Strate gy - '

O =

7. (a)'What are’ the d1fferences between CPM and .

- PERT and explain briefly.

(b) The utlhty data for a network are given below.
, Determine the critical path. B

Activity: 01 12 13 24 25
Dﬁration:‘ 2 . 8 10 6 -3 . _
Activity ;' 34 36 4.7 5.7 6.7
D.urati,o_n":l 3  -7 5 2 :‘87 '

. 8. .(a) Explain' clearly the .various costs that are

* involved in 1nventory problems. How they are
interrelated?
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- No#1 WebsiteiorAnthamumM‘epsity,Sumww ]

(b) A company uses annually 12000 units of a
raw material costing Rs. 1.25 per. unit placing
~ .each order costs 45 paise”and the carrying-
- costs are 15% per year per unit of the average
.. inventory. Find the Economic order quantity.






